
«Enumeration»
TransferResult

DONE
ERROR_NOT_ENOUGH_MONEY
ERROR_ACCOUNT_DELETED
ERROR_SUSPICIOUS

DummyTransferAnalyzer

«Interface»
Analyze

analyze_transfer (transfer: TransferToCheck): bool

It is not 100% necessary
to split the Bank class 
into two classes.

«Datatype»
TransferToCheck

account_number_from: int
account_number_to: int
owner_name_from: string
owner_name_to: string
amount: int

«Datatype»
Transfer

account_number_from: int
account_number_to: int
amount: int

«Interface»
OwnerChecker

ownerName(owner_id: int): string

«Interface»
AccountChecker

ownerAccounts(owner_id: int): account_numbers: int[]

«Datatype»
Account

owner_id: int
amount: int

Accounts

-next_id: int
-accounts: map<int, Account>
-owner_checker: OwnerChecker
-analyzer: Analyze

+Accounts(owner_checker: OwnerChecker, analyzer: Analyze)
+createAccount(owner_id, amount: int =0)
+changeAccountOwner(account_number: int, owner_id: int)
+deleteAccount(account_number: int)
+ownerAccounts(owner_id: int): account_numbers: int[]
+accountAmount(account_id: int): int
+transfer(transfer: Transfer): concurrent.futures.Future
-analyzePerformTransfer (transfer: TransferToCheck): TransferResult

Owners

-next_id: int
-owners: map<int, str ing>

+Owners()
+createOwner(name : string)
+ownerName(owner_id: int)
+changeOwnerInfo(owner_id: int, new_name: string)
+removeOwner(owner_id: int, account_checker: AccountChecker)

Bank

Bank(executor: concurrent.futures.Executor)

«Boundary»
BankInterface

createOwner(name : string)
ownerName(owner_id: int)
changeOwnerInfo(owner_id: int, new_name: string)
removeOwner(owner_id: int)
createAccount(owner_id, amount: int =0)
changeAccountOwner(account_number: int, owner_id: int)
deleteAccount(account_number: int)
ownerAccounts(owner_id: int): account_numbers: int[]
accountAmount(account_id: int): int
transfer(account_number_from: int, account_number_to: int, ...
    amount): concurrent.futures.Future

This is a low level analytic model of the component being 
designed. This is the second step I do while I do this 
homework. The model is almost implementation ready, but
it ignores the concurency issues.
THE PURPOSE OF THIS DOCUMENT IS TO ILUSTRATE 
THE PROGRESS AND THE DOCUMENT IS NOT UP TO DATE!
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